
Outdoor Rocking Poly
Adirondack Chair

DESIGNED IN CALIFORNIA



THANK YOU!

Sign up here:
 

JOIN THE WESTINTRENDS COMMUNITY

QUESTIONS OR COMMENTS?

PRODUCT REGISTRATION

FOLLOW, SHARE, & LEARN

ACCESSIBILITY - COMMUNITY - VALUE - SUSTAINABILITY



NOTICE

TOOLS  REQUIRED

PARTS

Page 1 of 5

1 PERSON
ASSEMBLY

UP TO 30 MIN.
ASSEMBLY330LBS

CHAIR

CAPACITY

A CHAIR SEAT CHAIR BACKRESTB C LEFT CHAIR ARM

2 SCREW
M6 x 80mm

4 PCS

BOLT
M6 x 65 mm

2 PCS

1 BOLT
M6 x 80mm

2 PCS

HARDWARE

1 PC 1 PC 1 PC

3 BOLT
M6 x 60 mm

8 PCS

4

SCREW
M6 x 55mm

4 PCS

5 M6 NUT

8 PCS 8 PCS

6 M6 WASHER7

ALLEN WRENCH
(PROVIDED)

WRENCH
(PROVIDED) (PROVIDED)

SCREWDRIVER
BLADES



Page 2 of 5

PRODUCT ASSEMBLY - OVERALL VIEW

PARTS

D RIGHT CHAIR ARM LEFT CHAIR LEGE RIGHT CHAIR LEG

1 PC 1 PC 1 PC

1 PC

F

LEFT ROCKING BASE RIGHT ROCKING BASEG H I FRONT RAIL

1 PC 1 PC

IA

ID

ICB

IG
IF H

G1

IE



PRODUCT ASSEMBLY

PRODUCT ASSEMBLY

 to Hardware #4 Bolt, 
and Hardware #6 Nut

Do the same to  and 

 and  to 
Hardware #4 Bolt,  and Hardware #6 Nut2

1

Page 3 of 5

4

4

E

A
D

C

7
6

F

F

4
4

E

C

7

7

6

6

C
D

F



PRODUCT ASSEMBLY

PRODUCT ASSEMBLY

to  and  as well as
Hardware #1 Bolt Hardware #4 Bolt

Turn the chair upside down, place  to 

 to 
Seat Hardware #3 Bolt, 

 and Hardware #6 Nut

4

3

Page 4 of 5

1

1

4

4

A

B

C

D

3

22

7
6

G

E

A G1



PRODUCT ASSEMBLY

PRODUCT ASSEMBLY

 to  and  with 2 pcs 

6

5

Page 5 of 5

G

E
H

G1

5

5



REGISTRATION & REFUND POLICY

HAVING TROUBLE

CLEANING TIPS

•  

 

CLEANING TIPS

REGULAR CLEAN:

QUICK CLEAN: 


